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The above circuit diagrams show a common-source JFET amplifier and its
high-frequency equivalent circuit. Find vy(?).

Doln:  In +his practical direutt, we have cireult
values that allow us +o make slm,:(h‘ying
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We AFirst cdaleculate LmPeanr\ce values.
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Tn retrospect, we could have made

the approximation that -j200M|| 602 & 600
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We may make  this qPFrox':Mq'ELon Aespite
the | in one of the guantities. In
qeneral, we may make the Following
qFFroxi.mq‘l:ionS of complex values:
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With our 2y value, we have a gimplified model:
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Pividing top and bottom by =zey gives
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The imaqinary parts of the numerator
and Aenominator are much larger than
the real parts. Thus, we Ynore the
real  parts.
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We see +that +the value is smaller +han
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We use V-dividers +o Find V.
small.
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Note: a wminus si.gn \s the same as 180° of
phase shift.

v, (t) = (’g cos ( 10kt + 180°) V

Alternate approach to solution below.
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